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GENERAL APTITUDE

10.

11.

12.

13.

14.

15.

HCF of 84 & 270 is
A) 8 B) 6 C)4 D)2

The sum of first five multiples of 3 is:
A) 45 B) 65 C) 75 D) 90

7:12 isequivalent to:
A) 28 :40 B)42:71 C)72:42 D)42:72

Find the simple interest on the Rs. 2000 at 25/4% per annum for the period from 4" Feb 2005 to 18" April 2005
A) Rs. 35 B) Rs. 30 C) Rs. 25 D) Rs. 40

The average of 20 numbers is Zero. Of them, at the most, how many may be greater than zero?
A)0 B) 1 C) 10 D) 19

An athlete runs 200 meters in 24 seconds. His speed is?
A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr

Every rational number is
A) A natural number B) An integer C) A real number D) A whole number

What decimal of an hour is a second?

A) .0025 B) .0256 C) .00027 D) .000126

Afruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had how many ?

A) 588 apples B) 600 apples C) 672 apples D) 700 apples

A does a work in 10 days and B does the same work in 15 days. In how many days they will do the same work
together?

A) 5 days B) 6 days C) 7 days D) 8 days

How does light normally travel?

A) In concentric circles B) In a straight line

C) Always towards a dark area D) In a curved line

First Country to undergo industrial revolution:
A) France B) Britain C) Germany D) USA

A solar water heater can not be used to get hot water on
A) A sunny day B) A cloudy day C) A hot day D) A windy day

In India, the first cotton mill was set up in
A) Madras B) Bombay C) Kanpur D) Surat

Regur soil is the other name of
A) Black soil B) Alluvial soil C) Arid soil D) Laterite soil
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16. The different group of stars is known as
A) Constellations B) Celestial bodies C) Asteroids D) Comet
17.  Which country has two-party system?
A) India B) Sri Lanka C) United Kingdom D) Nepal
18.  Which of the following is a macro nutrient?
A) Mn B) Mg C) Cu D) Zn
19. The process of evaporation causes
A) Cooling B) Heating C) Dryness D) None of these
20. Place directly above focus on Earth’s surface is known as
A) Strike B) Comma C) Epicenter D) Origin
DOMAIN KNOWLEDGE
21. Low viscosity oil is
A) Thick like water B) Thin like water C) Water D) None of these
22. What are alloy steels?
A) Steels other elements containing in addition to carbon
B) Resin
C) Fabric
D) None of these
23. What is the chief raw material used to make iron steel
A) Copper ore B) Steel ore C) Iron ore D) Mild steel
24. What type of gear is used on an arbor press?
A) Rack B) Pinion C) Rack and pinion D) None of these
25. The mechanism that can be used to change direction of motion and increase or decrease force or travel is
A) Shack crank B) Bell crank (c ) Metal crank D) Steel crank
26. A friction clutch can be engaged
A) At the beginning B) At the end C) At any time D) None of these
27. The cutting action of a file depends upon
A) The kind of cut and spacing of teeth B) Arrangement of teeth on the file
C) Size and shape of the file D) All of the above
28. Hacksaw blade teeth get dull due to
A) High speed and pressure B) Pressure not released during return stroke
C) Coolant not used D) Any one of the above
29.  Which one of the following is NOT the reason for making file faces slightly convex in form?

A) To increase the friction between the file face and the job surface

B) To give better distribution of the pressure and to compensate slight filing movement.
C) To reduce the friction between the file face and the job surface.

D) To reduce the effort in driving a file.
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

Which one of the following designations does NOT denote the grade of a file?

A) Bastard B) First cut C) Second cut D) Smooth

What is the principle of operation used in gear pumps?

A) Two gears rotate in same direction B) Two gears rotate in opposite direction

C) Both (A) and (B) D) None of the above

The simplest type of cylinder is the

A) Ram type B) Rim type C) Both ram and rim type D) None of these
An example of a static seal is a

A) Masket B) Gasket C) Glaset D) None of these
Cam ring of unbalanced vane pump is

A) Round B) Elliptical C) Both (A) and (B) D) None of the above
Pressure accumulators are used to

A) To remove excess flow of gas B) Store excess pump delivery

C) Absorb gas D) None of these

Spool valves are used to

A) Control direction of flow B) Control direction of flow of gas

C) Control direction of flow of water D) None of these

What is the most common fluid handled in an industrial plant

A) Gas B) Water C) Absorbent D) None of these
Water supply system can be classified as a “direct” or

A) Circulating B) Moving C) Re-circulating D) None of these
Which factor is considered while selecting the diameter of piston rod in hydraulic cylinder?

A) Bore diameter B) Length of stroke C) Load D) All of the above
When the fluid is pumped into a vessel under pressure, the dynamic head

A) Decreases B) Increases

C) Either increases or decreases D) None of these

You are going to press a ball bearing onto a shaft, what must you be careful “not” to do
A) Press on the outer race B) Press on the inner race
C) Press on the inner race D) None of these

One thing to keep in mind installing anti-friction ball bearings is
A) Clearance between balls and inner and outer raceways

B) Clearance between balls and outer and outer raceways

C) Clearance between balls and outer and inner raceways

D) None of these

Telescopic cylinders have
A) Only two stage units B) Only three stage units
C) Two or three stage units D) Multistage units

Which flow pattern gets affected when cross section of the pipe is changed?
A) Laminar flow B) Turbulent flow C) Laminar and turbulent D) None of the above
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45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

If a pump gives higher flow rate to the valve then, pressure drop in the valve
A) Increases B) Decreases C) Remains the same D) None of the above

What is the advantage of internal gear pump?
A) Moderate speed B) Medium pressure C) High viscosity fluids can be used D) All of the above

Which of the following statements is false for vane pumps?

A) Wear in contact surfaces occurs due to continuous contact between vane tips and the cam ring
B) Different sizes of cartridge kits can be replaced in same vane pump

C) Elliptical cam ring is replaced by round cam ring to reduce unbalanced forces

D) None of the above

Balanced vane pumps are designed to have
A) Fixed displacement B) Variable displacement
C) both fixed and variable displacement D) None of the above

What is the advantage of flexible vane pump?
A) they can handle solids which are of large size B) they can create good vacuum
C) both (A) and (B) D) none of the above

What causes internal leakage in internal gear pump?
A) less tolerance level between the meshing surfaces
B) more tolerance level between the meshing surfaces
C) no tolerance between the meshing surfaces

D) none of the above

What happens when the distance between flange and cylinder block is varied?
A) piston displacement cannot be varied B) variable flow rate of fluid can be achieved
C) fixed flow rate can be achieved D) all of the above

Cam lobe hydraulic motor is a type of
A) axial hydraulic motor ~ B) orbit hydraulic motor ~ C) gear hydraulic motor D) radial hydraulic motor

When does holding piston keep the angle between yoke and cylinder block maximum?
A) when set pressure is greater than load pressure B) when set pressure is less than load pressure
C) when set pressure and load pressure are same D) all of the above

Low-torque high-speed motors are used in
A) cranes B) winches C) fans D) all of the above

How is the arrangement of pistons in piston pumps?
A) axially B) radially C) both (A) and (B) D) none of the above

In which of these pumps, swash plate is replaced by cylinder block?
A) bent axis piston pump  B) radial piston pump C) axial piston pump D) none of the above

Which is NOT the use of a try square?
A) Measuring right angle B) Checking squareness
C) Marking straight lines at 900 against an edge D) Setting work piece at 900

Which of the following is a direct measuring tool?
A) Try square B) Steel rule C) Straight edge D) Ring gauge
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

What will be the discharge of oil in axial piston pump, when the angle of swash plate is zero?
A) discharge of oil is maximum B) discharge of oil is minimum
C) there is no discharge of oil D) none of the above

Try square is used to check up an angle of

A) 30° B) 45° C) 60° D) 90°

Which factors are considered while designing a axial piston pump? =

A) use of swash plate B) application in open loop or closed loop circuit
C) design of bent axis piston pump D) all of the above

Calculate area of a pipe if, flow rate is 20 I/min and flow velocity is 5 cm/s.
A) 66.66 cm? B) 60 cm? C) 62 cm? D) none of the above

The least count of metric micrometer is
A) 0.01 mm B) 0.05 mm C) 0.10 mm D) 0.50 mm

An outside micrometer has a negative error. The correct reading can be taken by
A) Adding the negative error in the actual reading

B) Deducting the negative error from the actual reading

C) Adding twice the negative error in the actual reading

D) Deducting twice the negative error from the actual reading

What is the zero reading of a 50 - 75 mm outside micrometer?
A) 0.00 mm B) 0.01 mm C) 25.00 mm D) 50.00 mm

Which one of the following instruments is used to check the concentricity of the outside diameter?
A) Vernier caliper B) Outside micrometer C) Dial test indicator D) Dial caliper

The minimum measurement that can be correctly read with a vernier caliper is called
A) Zero reading B) Least count
C) Main scale reading D) Actual reading minus zero error

Metric outside micrometer has a threaded spindle with a pitch of
A) 0.5 mm B) 0.25 mm C) 1.00 mm D) 1.50 mm

Zero error in micrometer means

A) There is negligible gap between the spindle and the anvil

B) Micrometer is true

C) Zero mark on the thimble is not visible

D) Zero on thimbles and datum line on sleeve do not coincide when measuring faces are in contact

Lock nut in the micrometer is provided to
A) Control the movement of the spindle B) Lock the reading after setting it over the work piece
C) Measure the work piece accurately D) Lock the micrometer when it is not in use

Which type of device would be most useful for setting a pressure relief valve in a hydraulic system?
A) Flow meter B) Vacuum gauge C) Tachometer D) Pressure gauge

Where is the top of the concrete elevation on a machine foundation?
A) To the exact finished height B) Slightly higher than the finished height
C) To a minus elevation of 2 - 3 in D)To a minus elevation of 3/4-11/2 in
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73. The “lay” of the rope means the

A) Direction the wires and strands rotate B) Direction the wires
C) Strands rotate D) None of these
74. The minimum acceptable factor of safety for wire rope is
A) 6 B) 4.2 C)5.1 D) 7
75. The safe working load for a %" diA) steel wire rope is
A) 3 tons B) 2 tons C) 10 tons D) 15 tons
76. Before you move an object, you need to know its
A) Weight B) Height C) Pressure D) Name
77. Pulleysin ablock are called
A) Load B)Sheaves C) Weight D) Block
78.  What must you know about a rope to prevent overloading?
A) Its breaking strength  B) The safety factor C) Its safe working load D) All of the above
79. A temporary fastening of a rope to a ring, pole or hook is called
A) Hitch B) Gantry C) Safety factor D) None of the above
80. The bridge crane and the half gantry crane are variations of the
A) Gantry cranes B) Loaded cranes C) Pulley D) None of the above
81. What term defines the length of a chain sling?
A) Reach B) Brake C) Chain D) Hitch
82. What should you look for when inspecting fiber rope slings?
A) Deterioration due to exposure B)Broken or cut fiber
C) Proper splicing D) All of the above
83. What type of splice is used to fasten a rope to a hook or ring?
A) Hitch B) Pulley C) Load D) Eye
84. When installing “u” bolt clips on a wire rope the “u” of the clip should bear against
A) Dead end of the wire rope B) Peak end of the wire rope
C) Middle end of the wire rope D) None of these
85. How far should the base of a straight ladder be placed from the supporting wall?
A) % of its working length B) ¥ of its working length
C) its working length D) None of these
86. The fastening of one part of a rope to another part of the same rope by interlacing them and drawing the loops tight
is called
A) Knot B) Hitch C) Load D) None of these
87.  Afluid used in hydraulic systems should have
A) low oxidation resistance B) high oxidation resistance
C) high oxidation enhancing ability D) none of the above

88.  The pin used for alignment is a
A) Dowel pin B) Pin C) Pitch coil D) None of these
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89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

What is meant by “truing “a grinding wheel?

A) The operation of breaking the wheel

B) The operation of hammering the wheel

C) The operation of removing any high spots on the wheel
D) None of these

Adrill driftis

A) A tapered wedge used for removing drills B) Used for hammering

C) Used for chipping D) None of these

Cutting speed on the lathe is measured in

A) Feet per second B) Feet per minute C) Feet per hour D) None of these
What is the least number of teeth which should contact the material being sawed?

A) One teeth B) Three teeth C) Two teeth D) Four teeth
Why is it best to have the cutting edge of a chisel convex?

A) To save the corners of the cutting edge B) To use the corners as many as possible
C) Random use of corners D) None of these

How is the proper way to ground a welding machine?

A) Flow of excess current in bearings B) Secure and no current through bearings
C) No earthing and give high voltage D) None of these

An acetylene hose fitting has a

A) Right hand thread B) Left hand thread C) No thread D) None of these
Wide sheets of sheet stock is called

A) Coils B) Nodes C) Thread D) Knot

Scissor like tools for cutting metal are called

A) Knot B) Hitch C) Snips D) Coils

Which operations are included in sheet metal developments?

A) Cutting operation B) Bending operation

C) Cutting and bending operation D) None of these

Adding an additive to water glycol fluids improves

A) Flammability B) Viscosity C) Oxidation D) All of the above
What is the function of a lubricant?

A) To reduce the friction B) To increase the friction

C) Neither increase nor decrease the friction D) None of these
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greg o fAeieY § fived T % AT T 947 FLd THT HIA-H1 FHILFH T &1 TGT a7 872

A) T AT B) T2r it SaTS C) 9 D) 0¥ o Tt
ST9 79 T § Ueh a9 | 99 grar g, ar Aiaefie 7=

A) FETAT B) If&

C) =T a7 9 STl & a7 =7 STt & D) =9H | FIE 781

AT ek T T 3 Al IATUI, ST FIT FleA o (o0 AT T@AT ATgu?

A) T U I B) Aiafah ¥ qx 2&Td C) A ¥ TX Zard D) H ¥ FIS Aal
fareft =t ater a=fiar eonfua &3 § e a1a &1 ea ° T AU g

A) =T 3T s ST Attt W & i Aawnt B) W&l o argdt o7 aredt v F di At
C) =T i arey 3w siiafvs v % fiwr Rt D) 398 & #rs 98t
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44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

TATERT el § gan e

A) Fae T AL THEAT B) & i+ =<0 THRISAT

C) & AT A1+ =0T T AT D) HedEasT SHTEH

TTST o I HFAT | I ° TaTg T TATET gl S1ar 872

A) T TaT8 B) s1erid WAty C) ATHATT 3fT sFera D) =98 & Fls AT 7al
T2 U 99 FTed %l Ig TATE X aqT ¢ al aTed § qdd T Al g

A) Tzt 2 B) F &1 ST £ C) U €1 't 8 D) = & #1€ off &
i [ 99 =7 F27 979 872

A) HeI® T

B) weaH 919

C) 37 i awet el *1 TEawTer R S "eRar 8

D) 39¥ & Tt

feferfad s § & #1997 a7 9t & forg 315 87

A) 3= feo o7 359 RAr & @9 FEa 809 F FR0 S99 qdgl | 6a7

B) T Tohel o TATH= SRl &l SHT helsh U7 H F&T ST 9dT &

C) SEq I FAT I HH e o (T SSTHTL A= I T T ¥ S H T&A (<37 S[1av g
D) = & 1% oft 7EY

It e qOi o forg R v mar g

A) frare faegme B) afiuaer fawamo=

C) T T =< AT faeam= D) =H & #Ts oY 7l

TAAAT A7 9T T FIT BIAT 872

A) T 3T AR HATA Tohd & ST IS AL 6 21d & B) o 3= S| a7 Hhdl &
C)zmiA&B D) =9H & File 9T 751

i [ 99 # straftes fema &1 791 w82

A) TTORT Tagt % I FH Figsuar &< B) HTSRT AqRT o 1= SATerT HIgTu[dT £
C) &fohT Haet ¥ @ 1% AT T8 D) =# & #rE off &

FAT BIAT & SIS ToheAT ol FohaTeT ST el ¥ sa1ieh o a1 g4 [arae gr?

A) Taees faeamae T 981 g1 o B) ¥ T=TY il AT TATg &< GIE sl ST Tqehell
C) HT2Ia YaTg % g il ST 9hcli & D) 39% & a4T

FH A ZIES[TeTeh HIed U THhL &

A) e FTES ol HieX B) FeAT gTegiicish HIeT

C) R gregiferd /et D) Y=o gregiier® Hiex

T gliees [9eed Ireh ¥ fRferee< & = & A7 sAfehaq T@ar 8?2

A) 9 TITE A T F AT grar g B) ST9 T9Td A T919 H FH gIaT &

C) ST ¥e 19 3{I¥ A 2419 UH &l 2id & D) 9% = T+t

FH 27 3¢ T Aied STANT FhaT STaT

A) FH B) A=w & C) werashi & D) U< % T+t

1399_17 (B) 12



55. faeed & 9qi ® foee it =aaedr 55 grdr 87

INEGIRES KT B) fBreama C) 2T (A) 3T (B) D) 379 & HI5 |l A5l
56. TAH ¥ e O H, TT9T e wT fHeie sis | 9ae oAy sirar g2

A) g2 s fieer dq B) ¥fRae foweq O C) srefiar fowes Uy D) =H & &1 Y 7l
57. AT ZTE Tha¥ H TEAHTA A6l grar 82

A) FET 9T qTIAT B) =ATehITAT il ST= el

C) U fohaTe & 900 ¥ #Teff Y@y =fa"a #ar D) 900 U & gohel MeaThd et
58. TH ¥ I €I THET AT ITHIT 572

A) ZTE AT B) &her %7 R C) ¥z Us D) 7 s
59. o1efT fuve 99 § O« &1 Mage FAT T, S 9T Wole T 07 9T 572
A) 7 %7 HagT sfewad g B) d<t T Mg =gaw &
C) a« =T 1 fHde 721 2 D) 3UI<h H H IS | Aol
60. ZTE THaT ST HLdl g Teh 0T
A) 30° B) 45° B) 60° D) 90°
61. & TUee U7 &l RSTeT Fied 997 F-91 weani 97 o= o siar 272
A) TETT T T ITANT B) GAT T AT &< T Hishe § 1Y
C) & o1 fuee U =71 fowTes D) u¥ % q4T
62. Te TTT o & il T0ET AL, AT TaTg it 7€ 20 +fex / e 3w yarg o 5 dEtes AFe g
A) 66.66 cm? B) 60 cm? C) 62 cm? D) =aH & it AT 51
63. Hfce ATSHIHIET il ATH TUET 2l &
A) 0.01 mm B) 0.05 mm C) 0.10 mm D) 0.50 mm
64. UF AT HTSATHIET Y U TR Al ST g @l O forar 1 asar &
A) areatass =T § TR e e B) aTedtash LTS | THLIcHE AT il FHH HLAT

C) areatass TS § &7 a1 THIeHT (e SeAT D) areatas U & &7 a1 AT S hl HH FHAT
65. HTEHHIET & aTg¥ 50 - 75 HHT & g7 T &t 77 gaaa 872

A) 0.00 mm B) 0.01 mm C) 25.00 mm D) 50.00 mm
66. TSN SATH %l HIRAT sl LTS o o0 {8 § F Fld |7 F TANT 7T Srar g2

A) FfHIT HferdT B) ATS#HIET F agx  C) TTAA e Sfeehet D) A HeA 9T
67. =IAAH AT ST 3 U a=e FeATaT F 91 S & IZT A7 T T &, SH Fel v g

A) g7 T B) ~AdH 0T

C) 7= T\ 9¥ afEw D) areatas T & g Ffe wear
68. Hifew = dTg ATHIHIET il Ueh (0= & 97 U g Fuea g

A) 0.5 mm =T B) 0.25 mm =t C) 1.00 mm =1 D) 1.50 mm =1
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69. HeHuTH § A AT FT A g

A) frea siv uafae % =TT siae gt g

B) WTZH T HEl &

C) fifaer 7% 977 e femms i s ©

D) gaed I¥ T ¥ TTEeH AT 3ld T d T ST [HATT il ATl Bl HTh H A5l gid
70. HEHATHT | FAlE A1 T&T AT S1aT 8

A) TT=S % = &l [Ha=a w7 B) FTH % g T¥ He FX & a1& LTS &l Aleh HedAT
C) H&T & F FTH % Zhe T {IIAT D) ST& START H 71 & Tl ATShHIET &l &l HLAT
71.  EIESIor HEeH § T90d A% a1ed He F & (oI i |1 [Sarsd & 9a¥ AT ITANT gRIT?
A) FT Hiex SEERCEE] C) etz D) z&Ta I
72. wefi £ {7 u¥ Fhie f S=re Rl g 82
A) T Ut FATE % B) HHTH FATS & &T=T ATerH|
C)2-3 ¥ § UH ¢ ¥ FU< &l FATs U D) 3/4 - 1 1/2 & = 1 F=12 & forw
73. T " R HAAS AT g
A) T T T oY =2ie qoar g B) A< &t f=err
C) ¥3H qHAT & D) =# & 1S T
74, QX IEET F (00 GLAT T IATH T 101E Fh gl g
A) 6 B) 4.2 C) 5.1 D) 7
75. ¥ AT & T qI T % 0 g A1 gt &
A) 3 tons B) 2 tons C) 10 tons D) 15 tons
76. ToRET siiesiare T TAHIANT FLd § Tgol STTh[ ST N7 S8
A) AT B) FATE C) za= D) 919
77. UF =A% | Toctl I wgl SITar g
A) e B) far=ar C) 9T D) sl®
78.  SEATATSIT &I Tk % TT STTehr TEET o a1 & 397 94T gFT AT u?
A) T e T aTha B) qRAT FE C) =T T 1 91X D) S a44¥
79.  UH D, 91 AT §F o 10 TEAT T Ueh STEATHT el g Tal &
A) = B) =1 C) TX&T FTh (D) 37H § FIE AT TR
80. T % SI¥ STerT et et o fafereramd €
A) i+ A B) T Fv el C) qeett D) =7H & g Wl 75!
81. T 9158 U = ¥t & @ars Maia wear g?
A) f= B) 7% C) 3 D) &=
82. WRIZAY TEHT % I T FAEIAV L HHA ST AT @7 ATgU?
A) ST % w0 FRrae B) 221 g5 a7 e wrEay  C) 3f=a faams= D) 3= T+t
83. g a1 a1 % forg wht oy fory wehTe seT St 872
A) = (B) Te<ft (C) @ (D) s
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85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

ST AT T T O "u" e AT @S Sy v e % Ut H 38 @A A1y

A) TTT 7T 3 9q o

B) A =T F wxH Tix  C) ATT THT & AT BIX

D) =9H & FIE A8

HTeft HIET o ST o THAT < AT <17 | fha=T g2 T@T ST ATeu?

A) THF FTH FT AGTE FT 14T

B) THF T il A(aTS T Y4

C) THHT 19 FT =TS D) =98 ¥ TS A81

TEHY 3 TR TRT T U o7 TEHT o g0 ¢ 300 § diad o o7 38 STeeht 3f¥ giel 1 Gi= & gl ST 8
A) Ttz B) &= C) &l D) Z7H & HI5 |l A5l
gIEg ol H¥er § Y6 T4 M1 ATeq

A) F At R gfacre B) IF SRR 0T WO

C) 3g SHAE L0 qETH %l &AHaT D) =% & Frs off 7t

Ty % for zeaaTer R i ST 8

A) =t faer B) fusr C) far Fea D) T & #IE A2

TR I Al "ZA=T" T FAT TqAS 872

A) TTIT T TS FT AT

C) afgaT ux Foret Wt 37 #9ie & ge™ &1 &1
T fger fgwe grar g

A) TS F3 % o0 ZEHIA 3T 70 U TqT1 797

C) =i 3 forg seawer forar
GG T IS e i /AT A1AT 5
A) Fie ufa Te B) Hie wfa faee

B) 9f&aT &l | & HATAA

Z(AT %0 FF | FHF T&IT F4T g S0 A1 6l ST Tl Tl § 9 FeAT A1 gu?

A) TF Tq B) = =ia

D) =9H & FIE 781

B) g % forw o= fohat Trar &

D) =9H & FIE A8

C) wfar =z 4%t D) T & F1E A&l
C)ar i D) =¥ =iq

U ST ST o Tl o TheA 1< T T =T FAT g7 AT gU?

A) e o ToRT 3 FIAT Rl F91 6 oY

C) ®IHI & ATG =5 ITANT

Ffee wefier w1 @ T & F9 fO|T 7 Fhar 82
A) FafaT § srfafs fbea yarg

C) TS AT gl 3% 37 Aloest a7

T AT Feil fhfT & grar ¢ wh

A) TTIT 1T IS B) 9T, BT oI

ofte wai= it =TT fied FT F2T STAT 8

A) Tz B) dreH

ST I 6 (1T H=T STEHT STRLIT gl SIaT &
A) Tt B) &=

offe aTq o AT | &l | SILere e 872
A) TTEd T AT

C) TeAT 3T AT gal AT
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B) fSraw &9 BT I« |l &1 ITANT FHedAT
D) =8 ¥ #Ts A8l

B) T fara st At % wrerw & Fg ot =
D) =9H & FIE A8

C) #1E I< & D) =7 & F1E Aol
C)us D) Tt

C) s et D) #lzed

B) ST STILerT

D) =9H & FIE A8



99. THT % TATSHIA a<et TaTd § U (e fed SIS+ &l aga< aa1ar g

A) sFesfterdar B) feraf=rama= S EIEIETU D) 9¥ & Tt
100. ®EH FT H1 FAT 72

A) =TT T 7 FA * o B) =997 T 7 * forw

C) T a8 ¥ 7 &t 7o 7 ¥ D) =9H | FIE 781
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11.

12.

13.

14.

15.

84 @32 270 €3 €2b. B1. €. (9137.2.)

A) 8 B) 6 C)4 D) 2

3 @3 22 50 efieraa (@iarwe 29

A) 45 B) 65 C) 75 D) 90

7112 ATGE

A) 28 : 40 B)42:71 C)72:42 D) 42:72

4 (IR 2005 (AT 183 @feret 2005 #1% 2000 BIFIF 25/4% i R0 A7 7 (9 T

A) 35 5=Fl B) 30 Gi<l C) 2551l D) 40 Bi=!

20 6 AR 91T 26T %75 | OICHR S0, I8, Foft %[ (A0 I8 20 AN ?

A) 0 B) 1 C) 10 D) 19

GG GIGIT 24 GTLFCS 200 bR (Tely | O sifetaa!

A) 10 5 / =1 B) 17 3 / = C) 27 f&fsl / =i D) 30 f&fs1 / =51
ATOIP AR AR 26

A) ¢35 2o 724 B) «fG sjefoicaint C) @< I 7= D) @5 s7=jef A4t
GF (IS G IO F© {3

A) .0025 B) .0256 C) .00027 D) .000126

G zpe rarore ey SCsieT feet | fofa 40% Stsie i weae 932 @28 420 SToeT 0z | o1, O FOfeT o
feei?

A) 588 SIIT{eT B) 600 SITo5 C) 672 SIToIsT D) 700 ST

A 55 % 10 e 9 B @ G52 i 15 il 0 | A105% 06T @ IS Ol 0 el 0 2

A) 5 fae B) 6 fa= C) 7= D) 8 fue

Tl A {3 SIC 9 FCL 2

A) RIS B) <15 FHETAAR C) st @& fG Sreeig @enidl frta D) «{G q@rcaaiz sy e
& (e AL PRz 2R

A) T B) 5+ C) wrsfife D) Sntwfaat

9N T (oI0® @S5 CTIF SR 25 Iz S e =l

A) &3 (qearege facd B) @b (e e C) @b 5= Tuee D) ¢ aite fuea
TR 2N F2[E I Blfe =T

A) Sare B) @42 C) o D) e
(AT o ==

A) St B) #ifewnfo C) ww o D) siehaizs Wit
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16.

TFaus ffen v sifafoe =0 @ i

A) THG7|G B) W&Gisifes 7Rl C) &2l D) LI
17. (IS 04 12 Mol 98] SITR 2

A) SIS B) el C) ZTA30E faew D) (#iiet
18. fsferis (et suita 7% 2

A) Mn B) Mg C) Cu D) Zn
19. JAreI ATl ARl WO -

A) SreeTRId! B) T@lofs C) &% D) @& (@02 T
20. AR TR T PR (PRI B Aiffoe = @i

A)GizF B) I C) Toltam D) T

DOMAIN KNOWLEDGE

21, T o=l 3@ coet (el —

A) GICETR IR 9 B) SiCeTa «I SAreel C) &= D) {0«
22.  RFA LIS (I / afet

A) T TTIS B (T I Fo1e] B) @fem

C) v% D) (F=ib 7
23, SIREA IO (OHIF Sy WBI PG MG 16 2

A) SIE SFEE B) 0ICaT S C) 2T WS D) 7 (Mild) 5is1
24, SIFRA (AT 6 40 IR e 27 2

A) T B) foife=ie C) 375 ¢ foifesre D) (b7
25.  sifea s sifdaen @k 71 31 GiTeteR 3ia A ZIER G (@ siafol 2 41 T ©f (2 —

A) SIS FE B) (I @& C) ot T= D) oI FI%
26. > 9l FIb FU AT T I 2

A) 2SS SRR B) I SRZR C) @ (I3 D) (b7
27. SR SR el @lba Sor fea s

A) FICHF S @R HITOF SIRZI B) TiZCeT HITed SRl

C) TR+ TIFIF @ TIPS D) > &6
28. I (FC (IR (ool 27 —

A) T 5ifS @ BIst B) R[T® ERIFaI 12+ 517 & 23 I

C) AreeThIFS AR =1l FI &l D) Stafie (@ (I 93
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30.

31

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

fafe wfem Sty @t o e (@ oF Ses A TS 27 1 2

A) TIEF (A I ST W04y T i
C) TiZeT (73 IR FIY ST S Tl g7

ffRreufem st @@t TR @ Hos s —

A) IBIE B) w5 <5
foI=1 Ao ST 3o Ao (& 2
A) 7f5 forme @z s gefa s

C) (A) @3¢ (B) T&¥

FFeTow el @ —

A) T 51z B) &= Bizst

355116 PiteTa Sriga (2ieT —
A) PTG B) IS5

ITHIAG (S 247 I 226 —
A) (AR B) 2o

CEPTIR SHIFICHLR (A PRC 20 27 —
A) SISfE& SR bele & 1K el
C) 9 Nl Sty

(T AT 5o ©F T2 F1 27 —
A) ZR1CEF s THgeld &=
C) & &ditad M Wgceld &=y

(I 22T AR e e 27 —
A) o071 B) &1

B) 1< 1T R @2 e 2o TG 23 411

D) 2 BIFAIR &) SIS B KHICa

C) CTFe S5 D) P3¢ (Smooth)
B) w2 fariz faoide e gefa ez

D) @2«

C) @ @ = Twwg D) (=G 7
C) AT D) (g ==
C) (A) 9= (B) Tex D) (=g =
B) Sifsfae 21~ (wlereifa eecas &y

D) (b7

B) a1 22 fREeis ey

D) (b7

C) *iI5= (Absorbent) D) {0«

T AR PIOST (¥ SIta ol 1 I — S (direct) =12l

A) 332+ (Circulating)

B) 511 (Moving)

C) s{71s71s32 (Re-circulating) D) (FIIo w1

TiErgifers Pfereiz e e o FaRe @b Sk s v —

A) @I

B) GBIt il

G0 2AICE TSI “=v| 1 2, U TSRE (26 6 —

A) ZTH AT B) i@ Il

G5 CTHF T T4 I [FI73-4 T3 191 AT 1 T O (I T2 51 Toe 751 —

A) SICHE (&0 5l (redl
C) 3919 @ THIF (A0 4 L Bio (redl
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42.

43.

44,

45,

46.

47.

48.

49.

50.

51.

SIS fRraie <1 R ST TSR T S Q1= A

A) IeTafe] I3 BT S SIITHIF (F4CIE ) I (clearance)
B) o1 @7 @< SITHIe € SITHE (791 ST W4 I

C) Io1asfeT §2R TTHIF 2R B (FACTINCL I

D) (o 7

Gfercxife Sifere it ot adsia —
A) 7o wg ooE 3Rt B) feafb Wi oowsefas  C) ufo i foafs oow 2ol D) W05 3816

2 @35 SABCHR 2 FER0 AT 906 (I 21Z (Flow) “a o3 sifaada =8 —

A) FfEE 2312 B) BRICETS 2112 C) TSI @12 @ BIRJLETS &2 D) (@40 <
Y G 2=l SITT TH Bi71 AT 1 27 94 SR (AR G (2176w 23 ol (2heT —

A) 3f& B) g™ C) TS A D) @
FOIRIE falIg 2ATeia Sotraifare 2

A) TR aife B) iz piv

C) Tt it I& o 92 41 I D) & 3

(O AT Gely (Ple] OTH e 2

A) (S {577 @32 1 R G 07 TS “=o1{ IBIF Sy SBT3 ST

B) @3 (& #lit~v! e AiZre Fifbe 56 s a1 aim

C) SPIISY (I3 T Sy SferaifBxie i -2 weat catisiiviz 1t faz -3 a2
D) (I«

T S TG (o AT Toeri3e 51l 231 —

A) ffis [ eps s B) #ifaaeta fCaepers

C) e @ sifsasa [ epss Ttz D) (=G =1

R (o STz Tormifael 5 2

A) TC ABEE I AL G IS S

B) SIteT NN (ofH FCO 3553

C) (A) @<k (B) Texz

D) 0 =

T35 PRICE DRI (R AT 211 foTimer 231 2

A) (IR STETR ST 3 e ol B) G2 STeT S04y (91! 372w Tl
C) CNfIE STeTs CHy 72 O Soiq D) =G =™

g @3 Pifereia gera 0K ya0ee fomel 2re [ 22

A) e fetees -« 3 femet zra =i B) ©2& #MiT2(d beTtel fomel 20 #I1ta
C) fAfu® berer@ #fies (@0 #ita D) & &6
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52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

TN (T 2RGITTE (59 @ A —

A) =TI 2RGIrR G5 B) Sr@fd6 2i2gifei (it

C) R 2RgIfer® ioa D) &fae 2iztwifers (it

IR o5 (I SR 23 @<k BT (Fifers Szl T SRzt SNt ?

A) (FIC (2 ST (P15 (A T4 K B) (15 (23117 T+ (3T (2 SIC2]

C) 5 (2PIF € (AT (2P T4 G2 D) & &6

(511 53 22-"4A1C (53 (T (g 2 T —

A) & B) T2z C) D) < a6
915 2{1Cr! o105 FeIta TN AT 2

A) IF 1] (axially) B) b&FIRICS (radially) C) (A) @< (B) Tz D) (=g =
(I #AT=o1 Prfereta goaa «If7a0s wemn (2 Ize 27 2

A) &SI 505 #iel B) @fisT fopba ottt C) Smifsmis fopSa irs D) =g«
G CHR (PR IR0 2 1 2

A) FICI (right angle) S15iCe B) 3o(Cwaaia sifarmi

C) &lIt® (edge) 900 €3 AT et (@A NFE FACS D) FIAECF 900 (S (76 I &y
ffeifae el e @I e v g 2

A) @ CBIRE B) 3bieT e C) 5&e @& (edge) D) ik o
AP CRICHR CPI T4e *[w0y Sifeiet 250 (oter [vgael (discharge) @ 203 2

A) (ST B AT B) coferca fRmgaet s1ifas

C) (ST (I fRmgael 2 1 D) @z

G (@ (I AR Sy 7270 T8 —

A) 30° B) 45° C) 60° D) 90°
ISR 75 7=l fCeriza 17 Ty Al Rcame 11 28 —

A) G (253 92 B) S[& &% w12l A% 5751 AfFCHT 492

C) &% Suf3m o5 #AiT=iz foerizs D) s 335

T4 (&l &5 20 I/min @3z ¢ 9ifSta9t (velocity) 5 cm/s, SAiZToIE SITed ¥ 203 —
A) 66.66 cm? B) 60 cm? C) 62 cm? D) @2

fsfoiie wlerm wca (MG (G MRCFIRNGICR s 3= 2
A) 0.01 fif B) 0.05 fafy C) 0.10 faf D) 0.50 f&ifst

G SITHATE NI 5% (raifoe @6 =it | A< i fFeia rem g —
A) 219 -7 A (Fealbe @0 N @Rl B) 2ie [t 209 (eaibe @(oa S Kol &
C) =iia fafSr-«wa At (ealloe @foa fawe caiotaa D) efie Jf 20w (eailte Fia fawd st =
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65.

66.

67.

68.

69..

70.

71.

72.

73.

74.

75.

76.

50-70 Sl SICGEE NRTIEbIC (=) 7l To 2cq 2
A) 0.00 fSifsl B) 0.01 fufy C) 25.00 fifi D) 50.00 faify

B - GF FACG PAG WA Sy fmferfreafer e @i sz s za e
A) Siffa s B) SIITHAIZE MBCERGIF  C) BRI (555 2f&r64 D) T ifeistia

it iferei a1 @ sgeres Siol 55 Sita 31 T o @1
A) = ffe B) << S (Least count)
C) & (%=1 &R (Main scale reading) D) e % Y& [+ &>

G STHAIZT MRCFIRGI (T (ATTT e A, O 45 (=1e —
A) 0.5 ffs B) 0.25 fify C) 1.00 faf D) 1.50 f&f%

BTGP [+ (G (Zero error) I67C Tt (AR —

A) FooITes @3 SINTSTETa T BTorwa His Towi

B) szt IfiGRfs #fie

C) {11 =1 o=efG crt Az =1l

D) Si7l 2l G T2 17717 o S0 e @3k frea Soia Bt #1i3caa ¥y 5% @3 Al (coincide) ST =11

BTG 1 W16 (T PR TSI A —

A) F0eTa F26IeT NRIg e oo

B) T I &7 AR #17 %k 519 F219 e

C) I A5 AR &

D) T4 21 1 TR I (32 SRZIR ML &6 T ety

G oW 2z faforr o G5 w219 &y (e TZ1ifT (@ Soicasn

A) I 5o B) I oI& C) BricifaoE D) (a=ii sier
IR ISR RIS TET T2 F waiio —

A) 5% fFferTe Swel 3@ B) fxrfeeTe Tooel SICor @3 (i

C) 2-3%f% W20 Thol 20w D) Tl 20 3/4 - 1 1/2 3t iz

W% (rope) @3 (¢ (lay) I57Ce & (R0 2

A) @ T ©F @} 3Gl @fera ol 906 B) sl fre

C) @it sGle efera gefq <o D) o2 7w

A) 6 B) 4.2 C)5.1 D)7

217 3126 IR F516 WG 1o SR (FIC F© 2

A) 359 B) 2%+ C) 1054 D) 1554
(I TGS AT A Sl AT S —
A) €T B) Tl C) vivl D) i
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77,

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

@3 FIF ofer afe SR (& F e 27 ¢

A) (=T B) e (Sheaves) C) &G D) &

S (=IC TS 1 ATE © SR S (I S2ATAIN 2

A) @63 Ot FFael B) =il wmga C) fR=iom iter= (=i D) 3@ 16
%, CoIIeT T2 21 A WG S 0 5 A6 2

A) fz5 B) 7IifG C) fe=i=rel wiga D) @bg =
e (@ @32 2% SIIG (@l (PIbR 2Pl 2

A) NG & B) (AT (G C) et D) 53«
I 3N (5o fawral-a e fom ez 2

A) 75 B) @& C) 5+ D) fgb

% WG Rt wAfI S (G o7 T AT ?

A)IBE ARG FT  B) o7 ¢ ey og C) Aoz =2iifx (splicing) D) ¥ 536
=3 3 [3-93 I & & 409 2l 139 9z =7 2

A) feg B) =ffe1 C) e D) =g
SIAR AGTS T4 “u” (@16 et IAIe 77, f3vest “u” 6 919 Reidice sz 303 —

A) St i oI 2l B) Otz wiuw {21 &li® (Peak end)

C) SItaa wied & &A% D) @bg =

G35 EIIE S AR 31 PIfETa e ies] SRg==AfE (re3ie 20o T Via A Tbe 2

A) FRIFIF e % B) SRS (HTda Y C) Atat iR ol D) o2 7w
@35 il @ AT T IR @2 WIS TTT AN I ) BT I (579111 5136 20 OIS f[F a0 2
A) =G B) f2y C) (=% D) (g 7
3G PN (3 996 I2E 391 T OIF (3 (ARE A ATIS —

A) [ Sz gifoze T3 5Frel B) T & Afoze 17 el

C) T G Jfardt Tl D) @2«

G AT SR - @3 &y (A2 1 2 —

A) TISTIE e B) o C) fof5 fom D) @bg =
SB[ bTEFF 28 (truing) JETCe (& (R 2

A) B ISR SAIC I B) b&FILL 2T IR S

C) BT TSI Wil GRS D) @bg =

Ge1 @It caret —

A) TGeTbTE AR &) G576 B Seaer B) 219l A% &y 59214 23

C) fofsiz-az ey a2 D) @bg =
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91

92.

93.

94.

95.

96.

97.

98.

99.

100.

a2 oS @ @I ol =1 —

A) T 2ifs CTae B) T afs Nfats C) b 2lfo qB D) @bg =
Y (I TE A T 5! 22 PoTosl Foel Wit FLCN 2SN ATASH ?

A) @5fG tre B) feaft e C) ufb urs D) v ure
@< AGIfeTa (chisel) @3 SwsT (convex) ST« TR W AFF Sotaifaret i 2

A) R qUsR (e fer 551 1 B) (= &fe1 IUTER <2id 41

C) (F=iefer Fies a2 D) @bg =

STl (U S e Al #1eif 5 e

A) faifaiz-« efsfie FIEs @iz B) RNz« (19 SIS iz e =11 23 ©f [f*pe a1
C) =Iif2R 2T T (@IS (redl D) =g =
bl e o9 7t a8 —

A) TS (4T B) RS (2T C) (I (2T (13 D) (e
15 3Brara e Bibe 2l <en 23 —

A) FEH B) (lre™ C) (AT D) <G

Hfo 30y TF A 41O FIBC© 2T 23

A) 6 B) f25 C) fa7l D) S
15 GIBICeTR Safesratel (i AT Soitidn

A) B AT B) (A SisAICa=I C) T 4R @R AN~ D) (P2
GG 2123 FIOT SITTHE (19 FCE (F0F SRS G 2

A) i<l efege™ (Flammability) B) et

C) Sz D) & 3

AR e 2

A) T4 g 411 B) 93l fen =<1l

C) =te g1 Al I (P02 7 D) =g
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GENERAL APTITUDE

10.

11.

12.

13.

84 3TfoT 270 o HCF 3% :

A) 8 B) 6 C) 4 D) 2

3 =1 YoM U Heeiuerd! (el aen) siist T

A) 45 B) 65 C) 75 D) 90

7 12 TR g R -

A) 28 : 40 B) 42 : 71 C)72:42 D) 42: 72
®. 2000 R 25/4% Sft I T3S 4 Hhe[@Rl 2005 T 18 T 2005 &M HISHTS! 2T

A)®. 35 B) . 30 C) ®. 25 D) &. 40
20 7T TG TR Y[, AT, STdiasTed, fohet S da stfres sradier?

A) 0 B) 1 C) 10 D) 19

Tk TRTE0T Edeiel 9Taug 24 HehaTd 200 Hiet gradl. W= 9 1R

A) 10 km/ar B) 17 km/dm™ C) 27 km/ard D) 30 km/dt&
STk Ut foham STqul S7ehTd e e oTeft we (RHd) oTTR -

A) Teh TaTHTioeh T B) T qUTfeh

C) T Tl D) T |quf T (Whole)

T Yohg Ueh qrETe fohell quTTeT 3R 7

A) .0025 B) .0256 C) .00027 D) .000126

T ® [oshedl e Il THEE Bld. A 40% FHGEE faewdl A @T=arhs 319 420 %8 Rieae
TR, W, HooTd AT=ATHS Tl THTEIE BN 7

A) 588 THEE B) 600 UHEE C) 672 TH=E D) 700 E%=E

A T %W 10 fes@ma duadr 1 oo %W B 15 fgama ol dl. @ d 3 T d %W ford] fegama oot
T ?

A) 5 feam B) 6 fea@ C) 7 feam D) 8 fgam
TeRTST TTEROT U] T JaTd shdl ?

A) THRS BRI B) Wl W HY

C) Jedi Ueht HumH s fev D) ahivd

vom <1 9 il wifa e

A) B| B) fsremt C) ST D)JuH ©
T qTft THesauaranadt Arerarvaren gieX g feasft smawar Jom A

A) T FITHTIT ST foad B) 3T14Te3 31urT=t feasft

C) Tt v feaw D) 2Afasr gy reorm=n feasfh
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14.

AT Hel YW ShToT=T Fareht fiRoft 39 3qmvara e -

A) TEH B) il C) FY D) ¥
15. TOR AW B g6 A o
A) TSt ATt B) MesT=ht (STegfarsta) ATt
C) &1 ATt D) T (TTeTmge) Hret
16. A= AT TE 30 @ AT
A) FHiEATE B) focifeecsa aiidly C) iwetizen D) e
17. IO 99TTq f5-veF Uget 3R ?
A) 9Rd B) sfictart C) gArIeE fohren D) JuTes
18. Weficr Ushl hivrd Hept Niveh ueref TR ?
A) Mn B) Mg C) Cu D) Zn
19. STt STl UfshaT B R
A) g B) TH C) ®1e D) ={ie shivTd & ATl
20. Gedi=AT I8 WITT=AT 92 o STHAHT heeHTeAT FEurdTd :
A) ¥T5h B) <A C) udigiex D) ififsH
DOMAIN KNOWLEDGE
21. o foEwhifae s T -
(a) TR TS (b) IR YTdes (c) Troft (d) i =it T
22. A A F ARA?
(a) eI FITHE ST 3L HH (b) T
(C) eI (d) =it hIoTaEt AT
23, A W TR OIS TIE e ATfeed hivrd 187
(a) IR AR (b) =a TR CEREEL (d) mrEes WA
24, 3TER YEER HITT Yol TR SmoRara ?
(a) T (b) frfrer (c) T afor fufrr (d) T R A
25. <1 AR U A HINE (I =it foen aeerar Ad T grer ST YaTe areedn o st ST Idl @ TR
(a) 3T b (b) 5 sk OEESESS (d) et ek
26. T hawH o= 39 WS (SadT) HiaT Ad
(a) g (b) Tt (c) T I3T (d) =it ProraEt e
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27.

28.

29.

30.

31.

32.

33.

34.

3s.

36.

37.

38.

39.

40.

41.

EISA U Fell TSR AT T

(a) e TR AT ST 3T (b) STEAae STt TATaciet! sTawer
(C) TTSaT HTSST ST TR (d) atiet wdere

ST Scig<aT ST dT&0Tdr shHl BId o :

(a) 3= Tt AT qE (b) fred wrer=an 9258 T1& Ged T8ed™
(C) Fete AT AT C)ESEINGH]

GTATeAUeh! SIUTd ST ATa] 3R HIEA HHEAT S o1 SUTETe! ¢

(a) ®TEA HE AT e ThHEmeia Y01 STEauaTaTdt

(b) ST ST FTTet foIaRuT ShvaTdTS! ST SITe=i BISfel JogHes! WuTs SHuATanat
(C) TS %g 3TTfoT SiTer TeherHeftet srofor st shvaraTat

(d) PTEAAT J& SHTTIATETS! AT Hedd FH} ATy

WTeATetteh! hIvTdt AUk (SR B I qxifad =7

(a) s (b) B e (C) Tehe e (d) =g

TR qvaTd AT eryd O 1 3R 7

(a) 3 firr weh= fox forama (b) a firr foeg, fewm foama

(c) 3=t (a) 3TfT (b) (dl) =Tt shIoree T

Tatd a1 fAfoietEn TR TR -

(a) T4 2w (b) fo 2rgw (c) T Wmanfrfmegy  (d) s Fvd e
T Hie a7t 2 3T -

() Fore (b) e (c) e (d) et shroTaet e
AT sl THITE HHTT T

(a) T (b) TTadeBTER (c) 3= (a) 3111 (b) (d) et T T
IR SFRJYIeE STIATd et -

(a) SITEd ATereh TTE= JaTE higH ThRuaTETa! (b) SITEq fereh 7w feforestt draad Savamardt

(c) T\ IMYvITETSt G ENEEINCHEI]

T SElcog AT SIS :

(a) waTer=n fouret femT sFvamEst (b) Ta=a SaTeT= fevre femer st

(C) HTvaT=aT YeTeT=a feRie foreror shvaradt (d) i =RivTaEt T
o1 SR SHET=ITd BTaTesvaTd IR Haid T gadere shiod 3R

(a) o (b) Troft (c) et (virm Sorm wanef) (dl) =iier o AT
aroft geaet yuret favmreft S “‘errae’” fohar

(a) TRl (b) TfEn (c) f-Trjafen (d) et Frort ATt
TRIETcTeh fafcreme fiRe e = faedm T it Turend SefTd SraeT Sial?

(a) 3 SRR (b) W i (c) @i (d) =T Tl
Segl saderel YTR=AT Wie! ST TrdedTd 79 shel STTd, SR THe B8 :

(a) FH B (b) ared (c) aTed foha et Bl (d) =t ShroTaer AT

e AR T ST SIS HH TR ST degl Gl i A 0l ST Saet UTiest ¢
(a) IR e’ I9 0 (D) ATt TR I8 0 (C) AT Tel 1@ak I o (d) =t ST AT
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42. AR -TohaeH dict ST SHaAHT & A&TTd 39T ¢
(a) SfeT ST AT A sTediel Wesmee fFaasria
MEEEIERGICIUEIIGREE St ET |
(c) sife ATfoT STRdie SAfT ATefiet Tasmefie faaran™
(d) et IR AT
43. forenifuss fafems o1 -
(a) % TH T e (b) B dF eiel gHe (¢) TH fhat TR RS g (d) Hedieest e
44. Siogl ST TTSAl B¢ (SHiE-TaRH) TvdTd Adl, Vel Y18 Yok T Bl ?

(@) TR weit (b) Tl v (c) T amfn efete (d) et ProTaE T
45. S U U sgicoaddl SITEd 3= JaTe o <dl, Ol selcoaneell YIR §iJ :

(a) aTedr (b) =+ B (c) Farer T (d) et T T
46. AT TR Tr= SR w7

(a) Ty Tt (b) TETg UIR

(c) 3= feewapited = gauered arorar Jara CENSEEEIH]

47. < TS WiATeAtsh! Hhivid 1R Tie 1R 7
(a) se few snfor S fommefier wad Huehige Tush geamT= farsmr
(b) THT= 2 T TATTeAT TTSTel IR fohe Seetdm Iard
(C) TEaGBTRR HART T FAFITER TEeTdT AATd STEHAT aTel hHT HLOATETS!

G ENEEINCHEIN]
48. UUAIA Se T ToFT § STHUAETS! shel Teft o112
(a) frree feawrmiiz (b) Rfruma fegwermiie
(c) Fret fraceanfir sifruse fegqwrsiie (dl) =Tt shroree T
49. TRifRIES (SAafeh) S8 THI= SRS H1 7
() @ HIS HTgsie Ailcigd BdTes ITehaTd (b) T 3ITH TEHRIH TIR & IRATd
(c) q=&t (a) =fr (b) G ENEEINCHEIR]
50. 3Tel TR qvawe ATl Tesd hemmes =i 7
(a) By ThaEHed FH <feld deea (b) Af¥mT ThaEHEY STEd el wogd
(c) AfST ThaEmed Sfeid Tregd e (d) =it =it e
51. Slogl Yeiot anfor faforemefie 3Tat sieetvand Aq degl /™ e ¢
(a) Tz feawratie seetdn aq et
(b) T (Wige) Seetvi) Yerer Tl fieaar ga
(c) ufereh yarer=i Tdl fesadr a5
(d) Tt T
52. oW AIS TSI ToIsh WIS BT Yh 3T :
(a) SAfFasTa TRIGTere T (b) =Affsie grIgifere Hiex
(c) firR EErgifereh Hiet (d) Feerat egifere A
53. hogl Bifeet e Tish T fferet setfermeliet 3imet ATt 3ad ?
(a) SToel BT JIN oiie Yvrue Afersh md (b) Seel B2 IR AT YT St 378d

(C) STe81 He UR ST TS SRR ToHEHH 3 (d) T T
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54.

SS.

56.

57.

S8.

59.

60.

61.

62.

63.

64.

6S.

66.

67.

68.

69.

HHI-2Teh AT ST HieT AL ITRATT

(a) T (b) o= (wr) (c) %A (d) ENNREEIR]
firees grq e foeeH=ht sgeree et TR ?
(a) ifFasTa qgdi=n (b) feerat wge=ht (c) T (a) 31for (b) (d) =ret shToTaet AT

WA TAtshl ShIvTeaT THTd, TS Tie=a St ffeTet seifeh savand Id ?
(a) se offeqw frea um (b) eetad e g () SffFueTat fukes um G EAGEICHEI]
SRHIVTAT 1 LRI AL AT ?

() e TSI (Ib) <eRI=TOT qUTEOT

(C) TehT FHST=AT fo&g 900 X T¥es W H1eh h0 (d) ek Fidalm 900 o T Lot
TATTIehT FhIVId SRR BT ot TR 7

() T 3 (b) & (c) "2 uw (d) fr 7t
ifraeTa fuked rawe, qoT fewarst (AIe0) S 318, Siegl Fiel Wil e I 318 7

(a) dor= fewamst FuTa 38w (b) deiTe fewast fohaT /et

(c) dam fewarst At (d) =t Tt AT

T TSR ATRATA &1 STl JUrIvenay :

(a) 30° (b) 45° (c) 60° (d) 90°
sffaasTel forees qra=h AT ST 10T TUTeH ST ST ¢

(a) @191 wie= AR (b) 3719 T foha Felise U Aichendia TR
(c) S ifFam fueed v feamsa (d) =it TeepTet

S YETETE AT 20 |/min T8 30T YaTeT=h et (seatfdl) 5 cm/s S8, aX, UTETe &hes WISl :
(a) 66.66 cm? (b) 60 cm? (c) 62 cm2 (d) =it hroTaEt AT
Hfeeh TrashHieE R oM 3T

(a) 0.01 mm (b) 0.05 mm () 0.10 mm (d) 0.50 mm
TS ATIShIHITH TfIeg TR (Ih) ATe. 3T e emgn o 35

(a) = fifEmme Hifeee v shis e (b) T=n fifEmre fese T oS

(c) T= fifeme greiides W=l s e (d) =1 RS goe-rIfees TR Il e
50-75 mm ST AR v fifén & ame?

(a) 0.00 mm (b) 0.01 mm (€) 25.00 mm (d) 50.00 mm
GTeficAteh! ShIvTd IS AT ST ST A HIeTe THehs! JHTIT qUTEuTHIS! ?

() sEfeTat FHieTm (b) IR UEHHIT (C) S IR e (d) SRt TR
TSR HiATE S R WISTHTT STl FigadT Ad e T -

(a) ¥ ffen (b) fermm TTorT (c) 57 That fifgm (d)sfargera fifeT awm T
Ak aTet=aT AEE ey AR 9 e = fedie

(a) 0.5 mm (b) 0.25 mm (c) 1.00 mm (d) 1.50 mm
TRIHTHIEHE T TR FEuTt

(a) feiea anftr sif=geme Hewyl F0eial 3T (b) AR @ 1R

(c) et s faee fooa

(d) foreeTata 3 ST STETate (Ffleg) SeH TTE TehHehRIST e3d HTeld Siogl HSTiT had Faehid STEdrd

1399_17 Marathi (B) 21



70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

8s.

T IHETHY HAlehe e hel SITd el «

(a) Ruger=n ere=Teiat f=o oo (b) sehdfieeEr B heara ffSm wieh ot
(C) SThHIE= ST=[HIT HISTHTY 0T (d) ST TEA TeTT WIS IHIS Aok FHTut
Tgiforeh feerme Ter ffew seices SHauamdTdl ShivTedT Yol I3 Haid ST e ?

(a) TeHie (b) EeRpH 7T (c) Fhrtex (d) 3o et
=31 BISSIHER (UTIT) hifshe=al Tfeteaea (I=UMS!) =T 9HT S T8 7

(a) sRIeR 919 3=ht wua (b) 3=t Hud =T 9 St

(C) 2-3 =T HRH UfcTeey (3= HUd cITaeT HHt)
(d) %4 - 1Yo $a AR Teleew™ (I TUd AT HHT )

e TR

(a) arR i W (Ue) Tohroar=h feum (b) arer fohroar=h feum

(c) S frtarsh fazm (dl) =it o

TR 9ETS Gafagad=an onh formm wepd! o1

(@) 6 (b) 4.2 (c) 5.1 (d)1

Vo TR Te U Fuid afeh @ o1Te

(@) 31 (b) 22 (c) 1024 (d) 1523

T %] FAGUATYE ! JFRT T § STV o1 TS 371G -

(a) T (b) s=i (c) = (d) 7=
ESIER N KICIRSSUCICHE

(a) & (b) sfieesy (c) 9 (weight) (d) st
HISETAET TS I STV B0 TR 3712 7

(@) @ afR . (b) A% Ha (c) & afh dire (d) et TeepTer
TehT T, Ui (WieT) fora genett Siegl SRES dTeqRaT siedTd, el FeuraTd -

(a) &= (b) 7= (C) T X G EAGEICHEI
Torst o TfoT BT 131 okt =Tl forforer S 31T

(a) T2t o (b) TeE (c) geit G EAGEICHEI]
< feciT=an eArsf=t TS ShTordT 3168 o ?

(a) f= (b) 3 (c) = (d) fe=

BRI U Fei™ qUIEHATHT I ST ?

() ITSTTR TS e fermreu (b) qeciat fohaT hTeiel BIFTER

(c) TrRic TARIET (SREe™ IR UshHehTd favH o SrEe Sieu) 2o

(d) =iiet aehTer

T Topd TTeTT SRS ST ShivTeT SohTel TTgd ATauaTd ad

(a) fe=r (b) geft (c) =ire (d) s

ThT IR Aver ‘U’ sitee ffetd sEaarn ‘U’ g e, seevaTd I -

(a) IR SE T (b) aE@u= fh U () ARR U= fired U (d) e T
Tocfi=a U Wies RIS qoswTT fohd! X ST@Tan?

(a) & e Vs (b) = e Va (c) HYvt T sl (dl) et hrorae) AT
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86.

87.

88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

100.

T SRS Teh W GH=A1 SR ST STl Se2qul o1 (T ) ksl T ST 3G el FeordTa:

(a) e (b) &= (c) &t (d) =t ST AT
B foTeh e T aTRuaTd U= SaueTdid & 9

(a) = SATfFTSYH e OEEEIEEEERE

(C) T ATfRISIH T (TTea) eFman (d) =it =it e

IAATSTHE (Tes TTevft) ATt & fua o

(a) efaa f= (b) fm OREEIES (d) =t =it AT
TEfen e I Ol RS Y

(a) seer=an SferTa AT (b) SEreT=a TATET SATHIH

(c) SRt hTet 39 TTe STHATH o TG JRUATe SATHIH

(dl) =it o

(a) St FHTEUITETS! T 2UE oSt (b) EaferESt sy

(c) Faftrardt aruror G ENEEINCHEIR]

A T Tiie 318 HiSTd

(a) e W AFS (b) e W fifae (c) i T AR (d) =t hroTaEt AT
A VAT IO BTfEearsit grarei St foreT T Tuehid Id ot vt T8 ?

(a) T q@ (b) o g/ (c) &4 T/ (d) ¥R 3@

feei=a afgriare sidn us 3/ gaia 1 AR Y

(a) =i TS W ArEEUATETS! (b) STEta STTEd ShT9L STIROT ITeRT HLUATHTS

(C) I TES AT FHITHIS! (d) = sRToTET AT

afee a3 gesvar=h am vgdt wm 3TR?

(a) SATTTE iz ek Jarg Hor (b) srerferHe gefaraan emfor wie AT

(c) fdm Tt 3for 3==r seeds e C)ENSEICHEIR]

ifafefer giet fefeme o -

(a) 3T BT 9 (b) S1= TATE 9 (c) g T G EAGEICHEI]
3fie i1 &8 TR FEUrdmd -
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